ARAFAN NAFEIN CO.

Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Coding system model L

301...799 |[—|1|L|12|C|E|10[F|V|2|B
ZElx(xlw [*L]E]*
*|* * *
*x* xIFEFET|F KT *
o * * * %] x *

E
Code ‘ Type ‘Model E,%?Eg,?,,waiagebztr Rotation sense | Shaft form |Fixinge flange port c?(glrr;{e]ction /\_\A:itfhrr\g:%is Rgll’zgs\{]a'!;/e Tank capacity
x* x
| & X X|I*|Z|*|*E|*

*k* xIFIF|T*|TE*
[301....799 | Code |——H Al Sin....
- B 15
1 | Without pulley L C 2.5
2 With pulley D 3.8
Pump with back -up bearing
5 and floating shaft
L | Single = |1 5 to 80bar
M| Multiple -banked [L+L i ) 80 to 175bar
LS| Multiple -banked [L+LO =1 3| 175 to 250bar
L 2 [11] 5 to 80bar
2 |12| 80to 175bar
L 6-7.5-9-10-12-14-16-18 '<C_E' 13 175 to 250bar
-22-25-27-32-35-40-46-52
C| Clockwise Vv Relief valve
CC| Counterclockwise vD| R.valve and tank
R | Reversible Flow control valve with rel
L NVC valve
Ve Flow control valve with rel
valve and tank
L | A-B-C-D-E-F-G-H-1-J-K-N-R-S-T Rc| Priority flow valve
V-W-Y-Z
Pulley type L| T-R-F-B-Etc.
L | P-RS-T
OO —1P
01-02-03-04-05-07-08-09-10-11-12 o E o E %
13-14-15-16-17-18-19-21-22-23-24-25 .
L [27-28-30-32-33-36-37-38-39-40-41 R F B

42-45-46-47-50-51-52-53-55-85-86




ARAFAN NAFEIN CO.

Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

General specification model L
Hydraulic technical data

Gear Pump Type-L

Pump Flow RATE

Vol. Efficiency

Flow rate in Lit/min.at 0 bar

(UMimat1500rem | 6 |7-5|9[10 12|14 | 16{18 | 22 | 25 |27 | 32 |35 37 |40 |46 | 52
PP ACEM ey |4 | 5 |65.6(8(9.3]10.6 12 |14.6 |16.6 | 18 |21.3|23.3 [24.6 |26.6 [30.6 [34.6
Cont MAXPRESS =5 275 250 [225 175 145 (135120
INTERMITENT MAX.
PRESSURE (bar) 300 275 250 190 160 {150 | 140
R.P.M AT CONT.PRESSURE| 3500 3000 2500 2300 2000 2000
MAX.RP.M 4000 3500 3200 3000 3000
100bar 500
MIN. R.P.M
ATGIVEN | 17spar| 1200 1100 | 1100 850 850 750 750
PRESSURES
250bar 1400 1300 1200 [1100 1100 1000
300bar 1750 1500 + + + + + + + + +
Volumetric efficiencies diagram at 1500 R.P.M
100%
959 ——r— 1 34.6¢c/r
909 4cclr
859
10 20 30 40 50 100 . 150 | 200 250 275
Working pressure in bar
. Pressure in bars
Flow rate and power diagram 100 150  p00 250
Y5
80 7 420 430 440 50
70 WA 271 g T4
— +24 +40
60 G4 a 15 .
: + +35
AP I
50 2 = t18 T®  +a0
/ 2 =
40 3 — 10 15 120 25
A0 /«& )
0 = T2 |, 20
4 o 9 15
S 1 1
20 e +5 +10
/ G 46 410
——
10 e + 3 TS T5
500 1000 00 3000 2000
Speed in R.P.M.

NOTE : The results have been obtained with 4.5° E viscosity oil and at 50° C




ARAFAN NAFEIN CO.

Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

General specafication model L

%

Pump flow rate at | Max. Pressure | Max. Speed Min. Speed
1500 RPM at 0 bar (bar) (RPM) (RPM)
1L 6 300 4000 500
1L 7.5 300 4000 500
1L 9 300 4000 500
1L 10.5 300 4000 500
1L 12 300 4000 500
1L 14 300 4000 500
1L 16 300 3500 500
1L 18 300 3500 500
1L 22 250 2500 500
1L 25 250 3200 500
1L 27 250 3200 500
1L 32 190 3000 500
1L 35 190 3000 500
1L 40 160 3000 500
1L 46 150 3000 500
1L 52 140 3000 500




4 ARAFAN NAFEIN CO.

Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Flange type model L

FLANGE TYPE.09 @85

106,35

FLANGE TYPE. 37

N
i

N W

106,35

s: %\X\‘

=
o

O

106,35




ARAFAN NAEIN CO.
5 Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Flange type model L

106,35

2-3/8"-16UNC _ \\ O

FLANGE TYPE.24

106,35

FLANGE TYPE.41 2825
0|

106,35

14.25 *ﬂ ;

806




ARAFAN NAFEIN CO.

Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Flange type model L

FLANGE TYPE. 10

4-@9.25/

\4-M10x1.5
96

FLANGE TYPE. 25

236.41

71,5
060

4-@9.25/

FLANGE TYPE. 01

FLANGE TYPE. 07

b
<

-\\\

4-M10x1.5
9%
3/8"-16 UNC-2B]
Drill 7.8
FLANGE TYPE. 16
2\ @38

)| N~
< [Te]
_________ T
O/ o o \O
2-@4 / N\
{ \
5y ¢ ! . OO
\\\ //
\ /
O \\(_?_ ______ _,/I O
‘ 4-29
14-M10x1.5 ’7
100

Ja-Mm10x1.5
2-3/8"-16UNC,




ARAFAN NAFEIN CO.

Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Flange type model L

FLANGE TYPE. 22

>
2-@10.5/

FLANGE TYPE. 51

@50
2314

2

2185

0|

2-M10x1.5

\ 2314

ﬁ’ Sec:A-A 3’

2-@4
Q X

g AT M‘ fa

@50

2188
2-@23

FLANGE TYPE. 55

20,5

i

FLANGE TYPE. 53

215

2N

|.r>>|l
)
=1

2-@4
Y N
) A’ \ @ 1A
2-M10x15 )
2-3105/
FLANGE TYPE. 05 l FLANGE TYPE. 50
a @38

—

2911 2-M10xL5 /




ARAFAN NAEIN CO.
8 Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Flange type model L

FLANGE TYPE. 52 FLANGE TYPE. 21

;

95,76

\ 2-M10x15

FLANGE TYPE. 15 FLANGE TYPE. 30

FLANGE TYPE. 17 FLANGE TYPE. 33

@40
\ o)
W%ﬂ 3 s
2 ess o2
1

SEC:A-A




ARAFAN NAFEIN CO.

Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Flange type model L

FLANGE TYPE. 28

FLANGE TYPE. 12

Eal

<|

FLANGE TYPE. 32 N

0!

:
.7,,.%

“
w

FLANGE TYPE.

4-M10x1.5

P —

\ 128

FLANGE TYPE. 08 o

100

7 7
!

J <
—

— 94,




ARAFAN NAEIN CO.
70 Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Flange type model L

FLANGE TYPE. 23
FLANGE TYPE. 47

8 =

4-M10x15 4-29
100
FLANGE TYPE. 04 2\ ?82.5
FLANGE TYPE. 45 ;\ 50 ] ?i¢7 w[m ]

A
©20,04+0.02

1032
— s

FLANGE TYPE.46 280

60
72
| |
0 J ©
0

X oo
=1

429/ /A-M10xL5
100




ARAFAN NAFEIN CO.

Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Flange type model L

FLANGE TYPE. 11

@124.65

FLANGE TYPE. 03

- /////f Z /i
13

drill §14.25

¥y
3/8"-18NPTF / S

FLANGE TYPE.85

- 349.96

|2-M10x1.5
2-@10.5/




ARAFAN NAFEIN CO.

Preciston,Speed, Quality 1n Producing Hydraulic

Gear Pump

Shaft type model L

shaft 3/J01 75 shaft G/G01 shaft E/E0L 785 shaft /201 shaft N/NO1 shaft S/S01 m
2
7 T 18 J—
21663 = o 31 e 845 < P
‘ 5|3 Vet 443 o232 2 - [
z 1 8 ER S e * I
2 B j 8[ 5 S P 3
Elinf=EE S e ©): T4 :
< . - S 8|
~ Tmwrasan Testh numbers 8| . TaperU5(5.63°)
Pressure angel 30° 2698 T
shaft J/302 shaft G/G03 shaft E/E02 shaft z/z02 shaft N/NO2
032 461 785 -
17 15 ( I 178 -
§ - 37 1.85 B12.7x32 2 1
[of 2| g
g = EE L3 g = o i
| ds Teeth number:12 5 Q) 2 2
< D.P:16/32 &L S
\Teper 15 (677 Pressure angel 30° 221 2698 1
shaft J/05 182 shaft G/G04 1 shaft E/E04 shaft /203 shaft N/INO3
9 o167 28 545 319 135 84.48
11 13 a5 3206 191 36 15 1 gums2
o o g[ ) % & 225 F 3
H(8 EE al= g 8 28 nes &1[flsf 3
2 B g8 8§ & 3Bl -
o 8
\Taperl/s5(537°) Teeth number:1. S © i[ -
D.P:16/32 9 | S— 2698
Pressure angel 30° 1
shaft 3/J05 782 shaft G/G05 shaft E/E05 shaft F/FOL 845 shaft N/NO4
102 215x4 al 319 18 845
~
us <
ﬂr\/g 3 °I 5 212.7x32 -
&
/ 8 3 2 [
p— Taperus / 2 n
D P:16/32 795 40 2698 |
Pressure angel 30° e
shaft J/J06 shaft G/G06 shaft E/E06 shaft F/F02 shaft 1/101
85 74.3
[_ o 345
B 1632 ol
rl ; { :
E E
§ ”é s l i & B
Teeth number 12 I | 8 I = &3
D.Pi16/32 5
Pressure angel 30 | — "9 |us Teeth number 4
shaft J/J08 shaft G/G08 shaft E/E07 %5 shaft 1/102
Y // S
30 . EC — 8.4
25 _| AF. 345
gl 3 §1 g
~
==Lt ==
Teeth number 13 @ 8
. S 14
MODULE:1.25 IS 49,5 Teeth number 4
shaft /309 shaft G/G09 shaft V/VOL shaft B/B02 shaft D/DOL
72.9 728 o @19x4 ?
g 759 496 ouea 1315 &
" yznz‘m\ 19;13 42 !\77 77 m =\
:— . (g £ JITNZH 5 o\ g
N R = g g G E 5 3 §
-~ S l [T \SL S| o
128
Teeth number 11 ’ -
 1/5(5.66°) Dpez g9 NIEriEen) 127 R0
Pressure angel 30°
shaft J/J11 shaft G/G15 1124 shaft V/V02 shaft B/B03 shaft A/AOL 795
741 56 :3‘\ 219x5 o 3
P— ] 185 505 ~loloxa 13| &
= I = E[ = n | 105 | o115 i S
g EEE! IS) wl i o o S
8 a g 8 8 & K o ~| =]
Teeth number 10 | = § = 8 S L
5 Taper:1/5(5.63°) D.P:16/32 | Taper1/ss.27) Taper1/8(3°)
Pressure angel 30° 15 | 19 |
shaft 3313 shaft G/G17 — (4.2 shaft V/V03 shaft H/HOL shaft AVA02
25.3 7 28 249 811
15 | @20
— | | 22x4 ©15.862+0.013 .
B EE
o N9 BRE g [0 X
J 8§ 3 g = 1)
S cFl 2 Ly IS S
Teeth number:14 3 ‘
D.P:16/32 15 ol 12\ Teper vy
Pressure angel 30° 25 Mext
shaft Y/Y01 shaft G/G22 525 shaft V/V04 shaft H/H02 shaft C/C01
23, 2 0 .
o | oo w wrvarss P |
5 1 / -
2 f 3 !
E o q 4 Iyl = g
S § L g \ g s
Teeth number 11
D.P:16/32 385
Pressure angel 30° s [\ Taper:u5(71)
shaft G/G25 shaft G/G23 s shaft V/V05 shaft W/WOL shaft C/C02
% 216x32 72
—25 I\ 12 22x4x4.
g N - .J,E - - I
= = 5 5| 5 & gl | { g 3|
B 8 = 8= sz
! 5 g3 EH ER
Teeth umber 10 Ee: ri Bn/l;;nber 1 2 Taper:1/8(3.58°)
presur angle 3 Pressure anael 30°




15

ARAFAN NAFEIN CO.

Precisvon, Speed, Quality tn Producing Hydraulic Gear Pump

Outlet & inlet type model L

2D
O/ Model:B oD BT315-317 BT318 B331 B331
M R
OKJO o(Do 238 240
{ J/ o2 2% o o1 250 o 230 G o
\ad e o0 /& :< Yy 213\ © 219 ]
amsxazs O A 4-M6x1 AN\ A o O o E”f\ el ~ I
INLET . oUTLET vy uY Nd U/ g13_ W/
I _ O O ~ D40
524640353227 [25]22[18] 16 14[12] 9 [75] 6 [Umin 7] (0] amexizs O 3-M6xL O, s | 2MEL” Q
202020 |20 |20 |20 |20 |20 [ 20|20 |20 | 20 |[135[135[135] d 4-M8x1.25 \2Z-Méx1
40|40 | 40 |40 |40 | 40 |40 [ 40| 40|40 |40 |40 |30 |30 |30 D
TLET
15 |15 |15 |15 [15 |15 [15 | 15(15 | 15 | 15 | 15]135]135]135] @ INLET INLET ou INLET OUTLET  INLET
30 |30 | 30 |30 | 30 |30 |30 [30 |30 | 30 | 30 |30 | 30 | 30 |30 | D I —
16 [16 |16 |16 |16 | 16 |16 |16 |16 |16 |13 |13 |13 |13 | 13 e
B316 BF343
238 238
23!
TNO g O 20 Q@ 8B, 215
S / / o /O
oO0o oo O O
Q Q o .2
A\ \ 2-M8x1.25 \ 4-M6x1
\ 4-M8x125 \4-M8x1.25 P
OUTLET INLET 6 12
INLET OUTLET
oa 2 Model:F oa 2D FR338 FT364 F365
o oy RN 255
\Ik_\v 154 )_\\1 0 ,g 220 ‘@40 }lb43.2 243.2 . 19
KJ ,\\J,\ 225, ()\ O @215 glgo O O / o
o o < )I ~~ ~Tdepth19 | T
4-M6x1 / 4-Méx1/
INLET OUTLET O o i o O o O
52[ 46] 40] 35| 32| 27] 25] 22| 18 [16 | 14 [12] 9 [7.5] 6 WM \M8xL.25 \ 4-mex125 \4-M8x1.25
20|20 |20 [20 |20 |20 [20 [20 |20 |20 |20 |20 |15 |15 |15 d INLET ‘ INLET -
40] 40 |40 [ 40 [ 40 |40 | 40 [ 40|40 [40 [40 |40 40 |40 | 40 D E— 16 INLET OUTLET
15 |15 | 15 |15 | 15 | 15 |15 |15 | 15 |15 |15 |15 |15 |15 | 15 da
353535 | 35|35 35| 3535|3535 |35 |35|35 35|35 o
o0 m Model:R o' RT362 R339 R313 R325 R355
r{ f‘ M27><15‘
\ @ A - M2ns MIBAS
INLET 20| OUTLET |718"UNE-28 / . e 1" 12UNF
52] 46] 40] 35] 32] 27| 25] 22| 1816 | 14 [12] 9 | 75] 6 [W/Mi ] 1-1/16"UN-2B M18x15]  M18xL5 \ s 16UNF
3/a+( 34" 34| 3/ 3/a" | 3/ 127 1127 127 [ 172" [ 172" | 1/2°] 112 378 | /8" OUTLET INLET OUTLET o
127 12 2] w2t a2t 12t 38y 318' 378 3/8™] 3/8™| a/8'f 38| 3/g | 3/8" D' INLET — INLET  2=7==4 OUTLET INLET |OUTLET INLET
R BR311
R350 350 RT344 BR311 Mo 15 R302
'\% M14xL5 % {B’,@ ‘ 185 M18x1.5 ) ™
< ) | =
LIGXISO m 15/16" UN O O ° ! O i)
M20x15/ Dringst wier | outLer \__sirssuem
OUTLET OUTLET INLET o O outLer OUTLET orioT
I INLET INLET 2-M6x1 " INLET INLET
Model:C
@\Q 2135 Model:A 230 o o1 €337
/ N —
o (7 ‘ﬂ A { @355 @35.5
A © C) 1 3-MéxL v 0/@ 3IMext O 915
> =\ £ T
M} % Q\A—MGXI o) O o) o) o
INLET - OUTLET
52] 46] 40| 35] 32] 27| 25[ 22] 18 [16 [ 14 [12] 9 [75] 6 [Vmn ——~ INLET OUTLET
16|16 | 16 |16 | 16 | 16|16 | 16|16 |16 |16 |13 |13 |13 |13 | e




ARAFAN NAEIN CO.
74 Precisvon,Speed, Quality tn Producing Hydraulic Gear Pump

Body form model L

98,3+0.5
/ o
6 ™)
J S
© o
/ )
52.561+0.56
102.8+0.5 60,5+0.3
™
cQ

N/

52,56120.5
102.84£0.5

00/1 02/2




ARAFAN NAEIN CO.
15

Precision, Speed,Quality in Producing Hydraulic Gear Pump

BACK COVER MODEL L

%

19

©
K
f~
° g
s Qo

i

0

J

N

.

| |
s
U

20
JOHN—DEFERE

MF 285

I,
T
35




ARAFAN NAEIN CO.

Preciston,Speed, Quality in Producing Hydraulic Gear Pump

Assembly pump model L

[T

Part numbers 5 consists of:
17— Pump housing
Z2—Bearings

38— Driving gear

4—Driven gear

No. Description Qut
1 Screw Mi10 4
2 Washer 870 DIN6797 4
3 Back cover 1
9 Flastic pin DIN—148194z8 2
5 Pump housing sub—assembly 1
6 Gasket 2
7 Flange 7
8 01l seal 2
9 Circlip 1
10 Key 1
11 Safety washer 1
12 Shaft nut 1
13 Gasket 2
14 Anti—extrusion gasket 2




ARAFAN NAEIN CO.

Preciston,Speed, Quality in Producing Hydraulic Gear Pump

Double pump model LM

9%
XX
.3A

CRKHKKKRL

RS

-
3%
XS
505
S
%5

KKK

<

LR

9%
XL

Part numbers 6 and 11 consists of:

7— Pump housing

<— Bearings

3—Driving gear

4— Driven

S

Description

Qut

No.

Description

Qut

Screw

16

Double pump flange

Nut

17

Gasket

Washer 910 DIN6797

18

Anti—extrussion gasket

Back cover

il B N IR N N

FElastic pin DIN—148194x8

Pump housing sub—assembly

Gasket

Oring #46x2.5

SNla|w|o

oo || o o A ||~

Pump housing sub—assembly

~
S

Flange

NN

~
<

01l seal

RN
N

Circlip

~
Co

Key

~
N

Double pump flange (oil seal)

S =< |w

~
(&)

Coupling

~




78 Preciston,Speed, Quality in Producing Hydraulic Gear Pump

ARAFAN NAEIN CO.

Double pump model LS

Part numbers 4—7 consists of:

1— Pump housing
Z— Bearings
3—Driving gear

4— Driven

No. Description Qut No Description Qut
1 Screw M8 4 16 Gasket 2
2 Washer DIN679798 4 17 Screws 4
3 Back cover 1 8 Nut 4
4 Pump housing sub—assembly 1 19 Washer DIN679798 4
5 Coupling 1 <0 Double pump flange 1
6 Elastic pin 6 21 Oring  028*2 1
7 Pump housing sub—assembly 7 22 Gasket 2
8 Flange J 23 Gasket 2
9 0il seal 2 24 Anti—extrusion gasket 2
10 Circlip 1
11 Key 1
12 Safety washer 1
13 Shaft nut 1
14 Gasket 2
15 Anti—extrussion gasket 2




79 ARAFAN NAEIN CO.

Preciston,Speed, Quality in Producing Hydraulic Gear Pump

Assembly pump model 5L

1)

No. Descripcion Qut
1 Coupling 1
2 Ball bearing 1
3 CirclipDIN—471 1
4 Key 1
5 Driving shafit 1

6 WasherDIN—7980 @14 1

7 Shaft nut 1
8 01l seal 1
9 0ringed46x2.5 1
10 Screw 4

1 Washer DIN-6797 ¢10 9




<0

ARAFAN NAEIN CO.

Precision,Speed,Quality in Producing Hydraulic Gear Pump

Pump with flange type 10

Model L
301-1L....(C/CC)E10B SHAFT E&CARO)
OUTLET & INLET B
FLANGE 10
A
SHAFT E 395
s 9 9
175 EC,, s
5 AF \ |
4-M10x1.5
?16x3.2 - O O)
[Te)
(\l_
3 < N & O O
o BOAS) o il [
2} o 3
— w0 f o o g I g
S 19 Q 5
S o
s ‘,
Taper:1/8(3.57° /a-mex1 O O
1 OUTLET Y =/
E \ 4-@9.25
4-M8x1.25 0 a8
O
E
O
INLET Outlet Inlet
nle Weight
Model A B c D E E g
31 36,5 301-1L6Ca 10B| 91 | 40 |135 | 30 |135 | 30
301-1L7.5CA 10B| 92.7 | 40 | 135 | 30 |135 | 30
22x4 Moxl | 25%4 301-1L9CA 10B | 94.4 | 425 |135 | 30 |135 | 30
301-1L12CA 10B| 97.6 | 446 | 15 | 30 | 20 | 40
ol o o 301-1L14CA 10B| 99.8 |44.6 | 15 | 30 | 20 | 40
:E'J S Eiq: = | 301-1L16CA10B|102.1| 49 | 15 | 30 | 20 | 40
5
‘1_52’5 1 Lgo N 301-1L18CA10B[104.3 | 49 | 15 | 30 | 20 | 40
Moxt/ / 301-1L22CA 1081089 | 49 | 15 | 30 | 20 | 40
SHAET R 301-1L25CA 10B|112.3 | 49 | 15 | 30 | 20 | 40
SHAFTC 301-1L27CA10B|114.6 | 49 | 15 | 30 | 20 | 40
301-11.32Ca 10B/120.7 | 547 | 15 | 30 | 20 | 40
301-1L.35CA 10B 123.6 | 565 | 15 | 30 | 20 | 40
301-1L40Ca 108 129.8 593 | 15 | 30 | 20 | 40
301-1L46CA 10B/136.1| 62 | 15 | 30 | 20 | 40
301-1L52Ca 10B| 143 | 66.2 | 15 30 | 20 40

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension

IThe drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be invertec




ARAFAN NAFEIN CO.
27 Precision, Speed,Quality in Producing Hydraulic Gear Pump

Pump with flange type 22
Model L

301-1L....(C/CC)J22F SHAFT J&C&B&T(01)

OUTLET & INLET F

FLANGE 22
SHAFT J
40,5 A
275 B
19 BCgs 9 80
4-M10x15 5 ﬁAF
@16x3 i ‘
8 o I b
o o N
I 2 cCo O L
Sy | YT S —
2 1ol & &3
< / ] D
g e O 2-M10XL5
| o
Taper:1/5(5.66°) \4-Méx1 2-@10.5
‘ OUTLET A '
060 lié EO o~ F
\\‘\'\’\O\’ — Fit torque 6-7mkg
o ©
NLET “_4-Méx1
OUTLET INLET .
Model A B = 5 = = \Weight
345 301-1L6CA22F | 875|365 | 15 | 35 15 | 40
14
SHAFT C 5 SHAFT B 5 301-1L.7.5CA22F | 89.2 | 365 | 15 | 35 15 | 40
e 301-1L9Ca22F | 909 39 | 15 |35 | 15 | 40
x272X4 7 AF 3 | 301-1L12CA22F | 941|411 | 15 | 35 20 | 40
Méx1 ‘ _j 301-1L14CA22F | 963 | 411 | 15 |35 | 20 | 40
§_ ga @, 301-1L16CA22F | 986 | 455 | 15 | 35 | 20 | 40
NS ) 301-1L18CA22F [100.8| 455 | 15 | 35 | 20 | 40
‘1—5’25 301-1L22CA22F [1054[ 455 | 15 |35 | 20 | 40
8 301-1L25CA22F |108.8| 455 | 15 | 35 | 20 | 40
/ / 301-1L27CA22F |[111.1] 455 | 15 |35 | 20 | 40
25’55 301-1L.32CA22F | 117.2| 51.2 | 15 35 20 40
_, 301-1L35CA22F | 120.1| 53 15 35 20 40
SHAFT T . 301-1L40CA22F | 1263|558 | 15 | 35 | 20 | 40
- - 301-1L46Ca22F |1326| 585 | 15 | 35 | 20 | 40
g ::.zI 301-1L52CA22F | 1895|627 | 15 | 35 | 20 | 40

DIN-5482 B-17x14 oy
Teeth number 9
Tooth thickness sw=3.20 /

Profile correction +0.6

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverte




ARAFAN NAFEIN CO.
22 Precision, Speed,Quality in Producing Hydraulic Gear Pump

Pump with flange type 23
Model L

301-1L....(C/CC)JI23F SHAFT J&C&B&T(01)

OUTLET & INLET F
FLANGE 23

SHAFT J
38,5 A
25,5 B
17,15 EC
4-M10x1.5 i AF 84 9
@16x3
0
<
(30)
N
o2 -
“@1 coO _ O
n Fi ™~ ™ o O
— ! /
g 17 |_ /] O,,‘D S oS
g o o |
= / \
s ,
Taper:1/5(5.66°) / \4-M6x1
- OUTLET
65 |=— e0o __OF u
175 @ Fit torque 6-7mkg
® {L
INLET 4-Méx1
32,5
: SHAFT T
SHAFT C 6,5
12 235 INLET
— Tooth thickness sw=3.206 N Model A | B | OUTLET E Weight
Profile correction +0.6 C D F
DIN-5482 B-17x14 \ 301-1L6CA23F |89.5 |385 | 15 35 15 40
22x4 Teeth number 9 \
301-1L7.5Ca23F |91.2 [385 [ 15 | 35 | 15 | 40
0 o*ip O 301-1L9CA23F [92.9 | 41 | 15 | 35 | 15 | 40
I:'EJ d gl == 301-1L12Ca23F |96.1 (431 | 15 | 35 | 20 | 40
/115 301-1L14Ca23F |98.3 |43.1 | 15 | 35 | 20 | 40
M6x1/ 14
25 301-1L16Ca23F |100.6 |47.5 | 15 35 | 20 40
L L 301-1L.18Ca23F [102.8 475 | 15 35 20 40
301-1L.22Ca23F [107.4 | 475 | 15 35 20 40
/ / 301-1L25Ca23F [110.8 |47.5 | 15 | 35 | 20 | 40
301-1L27CA23F |113.1|475 | 15 35 20 40
6.5 301-1L32CaA23F [119.2|532 | 15 | 35 | 20 | 40
301-1L35CA23F |122.1| 55 15 35 20 40
301-1L40CA23F |128.3 |57.8 | 15 35 | 20 40
301-1L46Ca23F [134.6 605 | 15 | 35 | 20 | 40
301-1L52Ca23F [141.5|64.7 | 15 35 20 40

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




ARAFAN NAFEIN CO.
28 Precision, Speed,Quality in Producing Hydraulic Gear Pump

Pump with flange type 09
Model L

301-1L....(C/CC)H09B SHAFT H&G&K(01)

OUTLET & INLET B

FLANGE 09
SHAFT H
33 5 A 131
516 e 106,35
4-M10x1.5 AF & .9
Méxl | 22x4 ' .
J NV, TN AZSA
i I
N
8 2 c © @
ﬂ o VoY [a2]
© g 15 \J A4 S
~ w5 ~ ~D
—l o ¢
S T
|4-M6x1]
OUTLET ,,
19 o % M _ 4-M10x15/
e Fit torque 6-7mkg 060
4-M8X1.25/! 0
o OE
OUTLET INLET -
INLET Model A B c 5 e £—{Weight
301-1L6Ca09B 91 | 40 [135| 30 |135| 30
301-11L.7.5CAQ9B | 92.7 | 40 |135| 30 |135| 30
301-11.9Ca09B |94.4|425|135| 30 |135| 30
SHAFT G - %2 o SHAFT K 32 B01-1L.12Ca09B |97.6|446| 15 | 30 | 20 | 40
301-11.14CA09B |99.8|44.6| 15 | 30 | 20 | 40
301-1L.16CA09B [102.1| 49 | 15 | 30 | 20 | 40
1 301-1L.18CA09B [104.3| 49 | 15 | 30 | 20 | 40
M6x1 M6x1 B01-1L22CA00B |108.9| 49 | 15 | 30 | 20 | 40
\ ﬁ\ 801-1L.25CA09B |112.3| 49 | 15 | 30 | 20 | 40
By 0 8 801-1L.27Ca09B |114.6] 49 | 15 | 30 | 20 | 40
ﬂi g gl 301-1L.32Ca09B (120.7|54.7| 15 | 30 | 20 | 40
S % ; 301-1L.35Ca09B [123.6/56.5| 15 | 30 | 20 | 40
Teelhr}umber:g }_;‘f Teethr}umber:Q }_ 301-1L40CA09B |129.8/59.3| 15 | 30 | 20 | 40
D.P:16/32 D.P:16/32
Pressure angel 30° Pressure angel 30° B01-1L46Ca09B |136.1| 62 | 15 | 30 | 20 | 40
_/ / 301-1L.52Ca09B | 143 | 66.2| 15 | 30 | 20 | 40

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be invertec




24

Precision, Speed,Quality in Producing Hydraulic Gear Pump

ARAFAN NAFIN CO.

Pump with flange type 04

Model 1,
SOfoLQ.Q(C/CC)AO4/B SHAFT A(07)
OUTLET & INLET B
FLANGE 04
43,5 A
30,5
SHAFT A %7 5
8 12,5
EC
84
4-M1021.5 N 9
1) 4 o N
T g D
B S 2
l N F N 0
o o
? c © & ®
~| ™ ™
Yo \\L
Y
’ ‘
\ 4- M6z 4-99/
OQUTLET
24 L
Fit torque 6—7mkg 108.2
O _*F
@) Y
4— MBx1.257° Q(\J
9E
INLET <)
Outlet Inlet .
Model A B C D 7 e 7 Veight
301—116CA04B 91 |40 135130 |13.5 | 30
301-1L7.5CA04B | 92.7 |40 135130 |13.5 | 30
301—1L9CA04B 94.4 |42.5 | 13.5| 30 |13.5 | 30
301—1L12CA04B |97.6 |44.6 | 15 |30 |20 |40
301—1014CA04B |99.8 |44.6 | 15 |30 |20 |40
301—1L16CA04B |102.7 |49 5 |30 |20 |40
301—1L18CA04B |104.3]49 5 |30 |20 |40
3071—1L22CA04B |108.9]49 5 |30 |20 |40
301—1L25CA04B |112.3 |49 5 |30 |20 |40
301—1L27CA04B |114.6 |49 5 130 |20 |40
301—1L32C404B |120.7\54.7 | 15 |30 |20 |40
301-1135C404B |123.6|56.5 | 15 | 30 | 20 |40
301—1L40CA04B |129.8|59.83 | 15 |30 |20 |40
301—1L46CA04B |136.1 62 5 |30 |20 |40
301—1152C404B | 148 |66.2 | 15 |30 |20 |40

In the reversible pumps ,

threaded ports awvailable R only .both ports same dimension that corresponds to the suction dimension

The drawing above shows a pump turning cleckwise .For anti —clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




ARAFAN NAFIN CO.

25 Precision, Speed,Quality in Producing Hydraulic Gear Pump

Pump with flange type 19

Model L
301—1L....(C/CC)WI9F SHAFT W(01)
OUTLET & INLET F
FLANGE 19
A
7.2 B .
3722 15.5 ﬁffp 94 9 / /—{th torque 6—7mkg
I l /
» s o
R 0} O
9% g 0 . 50
c A S v 3
| O O
Oring 4612.5// I—M6aT,
2—M10x1.5 OUTLET 2011
oF O ]
~ 9K
4-M6x1 7 =
INLET
2.8
SHAFT W
Model A | B COMMD E[”letF Weight
£: X 301-116CW19F |87.5 |36.5 | 15 135 | 15 | 40
§ St | 301—1L7.5CW19F| 89.2 | 36.5 | 15 | 35 | 15 | 40

301—1L9Ccw19F | 90.9

39 15 35 15 40

41.1 15 35 20 40

EC 301—1L12CW19F |94.1
301—1L14CW19F | 96.3

41.1 15 35 20 40

301—1L16CW19F |98.6

45.5 | 15 35 20 40

e 301—1118CW19F |100.8145.5 | 15 135 | 20 | 40

301—1L22CW19F |105.4145.5 | 15 1 35 | 20 | 40

301—-1L25CW19F |108.8145.5 | 15 135 | 20 | 40

301—1L27CcW19F |111.1

45.5 | 15 35 20 40

301—1L32CW19F |117.2151.2 | 15 135 | 20 |40

301—1L35CW19F | 120.1|563 15 |35 |20 |40

301—1L40CW19F |126.83155.8 | 15 | 35 | 20 | 40

301—1146CW19F |132.6158.5 | 15 | 35 | 20 | 40

301—1L52CW19F | 139.

5 62.7 | 15 35 20 40

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to

the suction dimension

The drawing above shows a pump turning cleckwise .For anti —clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




ARAFAN NAFEIN CO.
26 Precision, Speed,Quality in Producing Hydraulic Gear Pump

Double pump with flange type 10
Model LM

301-1LM....(C/CC)E10B SHAFT E&R (01)

OUTLET & INLET B

FLANGE 10
A
SHAFT E C
B
EC . 79105
AF 84 ;EAIE 84 ,
4-M10x1.5
— @16x3.2
- n
| H &
} - o
S I ”
| [e] o]
SE e 3
far]
- S ek o( o, <>O<>D g8 Hg
8 77 c/o o
S / /
Taper:1/8(357°) /A-M6x1 /A-M6x1 :j O O
‘ 060 ‘ e OUTLET OUTLET ' @ @
19 - - 14-29.25
F F
SHAFTR 36,5 4-M8x1.25 O v O 7 4-M8xL.25
Méxi | 25%4 o o 0] o
— |\
\ E E
e o o}
S b INLET INLET
s 28]
S I
30
Model Al B| C Model A | B | c|QUILET | INLET Model AlB]| C odel A |8 | c [OUTLET [ INLET
301-1LM6-6CA10B  |172.9| 40 [121.9[301-1LM22-9cal0B |194.2 142.3 B801-1LM32-16Ca10B |213.7 301-1LM40-40C4 10B|250.5 | 59.3 | 180
301-1LM7.5-6Ca10B |174.6 123.6 OL-1LM22-12Ca 108 1974 4 l424] 15 | 30 | 20 |40 BOLILM32-18CA108[2159 1606 130111 M46-6Ca 108 | 218 o | 167
301-1LM?7.5-7.5Ca105 176.3 301-1L.M22-14Ca10B |1996 301-1LM32-22C,10B(220.5 301-1LM46-7.5Ca108 219.7 15 130 |20 |40
S01-1LM9-6u 108 [1763[ [ o ;B0L-1LM22-t6Ca108 209 1488 * * | % [301-1LM32-25Ca10B[223.9 301-1LM46-9Ca 108 |221.4 [1695| * *ok
301-1LM9-7.5CALOB | 178 p01-1LM22-18CA10B |204.1 B01-1LM32-27C,10B |226.2 B01-1LM46-12Ca10B |224.6 1716
301-1LM9-9Ca10B  |179.7 127.8[301-1LM22-22CA10B |208.7 301-1LM32-32Cal0B[232.3 166.3 301-1LM46-14Ca 10B |226.8 '
B01-1LM12-6CAL0B [179.5] 5, o |15 g |301-1LM25-6Ca108 194.2 E 301-1LM35-6Ca10B |205.5 s65 | 1545 EOL1LM46-16Ga 108 229.1 [176 |
B01-1LM12-7.5CA10B|181.2 301-1LM25-7.5Cal0B |195.9 . 301-1L.M35-7.5CAL08207.2| BO1-1LM46-18Ca 10B |231.3
301-1LM12-9CA10B |182.9 131 [301-1LM25-9Ca10B  |197.6 |145.7] 301-1LM35-9C410B |208.9 157 B01-1LM46-22Ca10B(235.9
301-1LM12-12CA10B |186.1 133.1 301-1LM25-12C4 10B  [200.8 301-1LM35-12Cal0B |212.1 1591 BOL-1LM46-25CA10B(239.3
BO1-1LM14-6Ca10B |18L.7 130.7[301-1LM25-14Ca108 | 203 ﬂ B01-1LM35-14Ca10B |214.3 " ]B01-1LM46-27Ca10B |241.6 L
B01-1LM14-7.5CA10B|183.4 B01-1LM25-16Cal0B |2053 301-1LM35-16Ca 10B[216.6 301-1LM46-32Ca10B[247.7 1817
301-1LM14-9CA10B |185.1 133.2 [301-1LM25-18Ca10B |207.5 1522 B01-1LM35-18Cal0B |218.8 163.5 B01-1LM46-35Ca10B |250.6 |1835]
301-1LM14-12CA10B |188.3 135.3 [301-1LM25-22C4 108 2121 301-1L.M35-22Ca108[223.4 301-1LM46-40Ca 10B |256.8 @
B01-1LM14-14Cal10B |190.5 301-1LM25-25CA10B |215.5 301-1LM35-25C410B(226.8 B01-1LM46-46Ca10B | 263.1 189
30L-1LMI6-6CaL08 | 184 | o | .. [BO0I-1LM27-6Ca108 196.5 [1455| 301-1LM35-27C4108]229.1 301-1LM52-6Ca10B [224.9 662 | 1730
301-1LM16-7.5CA10B|185.7 301-1LM27-7.5Ca10B |198.2 [301-1LM35-32CA10B |235.2 169.2 B01-1LM52-7.5Cal0B[226.6 | - -
301-1M16.9CA10B  |187.4 135.5[301-1LM27-9Cal0B  [199:9 [148 | 301-1LM35-35Ca10B|238.1 171 [301-1LM52-9Cal0B |228.3 [176.4]
301-1LM16-12CA10B |190.6 137, BOL-1LM27-12CA108 203.1 E 301-1LM40-6CAL0B [211.7 503 |1607 [POLLLM52-12CL0B 2315 E
B01-1LM16-14CA10B [192.8 B01-1LM27-14ca108 |205:3 ’ B01-1LM40-7.5CA108(213.4 301-1LM52-14Ca108B[233.7
301-1L.M16-16CA10B|195.1 142 [301-1LM27-16CA10B |207.6 E 301-1LM40-9CA10B [215.1 163.2 [301-1LM52-16Cal0B| 236 E
B01-1LM18-6CA10B |186.2 135.2301-1LM27-18Ca10B | 2098 ' p01-1LM40-12CA10B 218.3 1653 POL-1LMS2-18CAI0B 238.2
301-1L.M18-7.5CAL0B|187.9 301-1LM27-22C4l0B | 2144 B01-1LM40-14Ca10B[220.5 "~ |B01-1LM52-22Ca10B |242.8
301-1LM18-9CA10B |189.6 137.7[301-1LM27-25C4 10B |217.8 301-1LM40-16CAL0B|222.8 1607 POL-LLM52-25C108 [246.2
301-1LM18-12CA10B |192.8 1398 301-1LM-27-27CA10B | 220.1 B01-1LM40-18CA10B| 225 " B01-1LM52-27Ca10B[248.5 L
301-1L.M18-14CAL0B | 195 301-1LM32-6Ca10B  |202.6 54.7 1516 B01-1LM40-22Ca10B [229.6 B01-1LM52-32CA 10B |254.6 | 1886
301-1LM18-16CA10B |197.3 1442 301-1LM32-7.5Ca 10B |204.3 I B01-1LM40-25Ca10B | 233 [301-1LM52-35CA10B|257.5 |1904|
B01-1L.M18-18CAL0B |199.5 B01-1LM32-9Cal0B | 206 154.1 BO1-1LM40-27CA108B [235.3 301-1LM52-40Cal0B|263.7 1932
301-1LM22-6CAL0B |1908| 49 |0 o BO1-1LM32-12C4I0B 209.2 E 301-1LM40-32Ca 10B|241.4 175.4 B01-1LM52-46CAL0B| 270 1959
301-1LM22-7.5CA108|192.5 B01-1LM32-14C4108 |211.4 ) 301-1LM40-35CA10B|244.3 177.2 B01-1LM52-52Cal0B |276.9 200.1

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




27

Precision, Speed,Quality in Producing Hydraulic Gear Pump

ARAFAN NAFIN CO.

Double pump with flange type <2<
Model LM

301—1LM....(C/CC)J22F

SHAFT J&C&B&T (01)
OUTLET & INLET F
FLANGE 22

A
40,5 C
27.5, B
SHAFT J 19 15,5
ol BC g4 EC g4 9
AF AF
4—M1021.5 #6163
—
N
R [ |
2 z\J | coO _© co __© o
oL / - b P N 3
~| 7] D ~ | D ~ ~ ~
D -
N / O o~E 0 6}
= / \ Y
§ / \ \
/ \4— M6zt \4— M6zt Q
Taper:1,/5(5.66°)/ —
QUTLET OUTLET \ 2-010.5
i
E o F 2—-Mi10z1.5
T « Fit torque 6—7mkg 060
80
SHAFT C 34.5 SHAFT B & &
2214}7 <—>19 N 4— M6zx1 Tooth thickness sw=3.206 SHAFT T
5 INLET Profile correction +0.6
E C DIN-5482(e9) B—17x14|
M6x1 g Number of teeth :9
\ B AF. Dia pitch:P/Pa=16 /32 \
\\ Pressur angle : 30° ‘
\ _
RN
ol g 2 < B
| o~ 1
e § 5
~ =
U 8.5 - 14
34.5 14 25,5
Qutlet Inlet Outlet Inlet
Model 4 |B |¢C Model A |B |C 5 & Model 4 |B |C Model 4 18 |C ‘715 e
307-1LM6—6CA22F | 169.4|36.5 |118.4 |301—7LM22-9CA22F |190.7| 45.5 |158.8 301—1LM32—16CA22F |210.2 157.1 | 301—1LM40—40CA22F |247 |55.8 |176.5
307—1LM7. 5-6CA22F | 1711 120.1 301—1LM22—12CA22F |193.9 140.9 301-1LM32—18CA22F |212.4 301—1LM46—6CA22F |214.5/58.5 |163.5
15 |35 | 20 |40 15 |35 |20 |40
301—1LM7.5—7.5CA22F| 172.8 301-1LM22-14CA22F |196.1 301—-1LM32—22CA22F (217 301—1LM46—7.5CA22F| 216.2
* *
301-1LM9—6CA22F  |172.8139  |121.8 |301—1LM22—16CA22F |7198.4 145.3 301-1LM32— 25CA22F |220.4 301-1LM46—9CA22F |217.9 766
307-1LM9-7.5CA22F |174.5 301—1LMZ2—18CAZZF | 200.6 301—1LM32—27CA22F [222.7 301—1LM46—12CA22F |R21.1 168.1
301—1LM9—9CA22F | 176.2 124.3 |301—1LM22— 22CA22F | 205.2) 301—1LM32—32CA22F |228.8 162.8|301—1LM46—14CA22F |223.3
301-1LM12—-6CA22F |176 |41.1 |195 |301—1LM25-6CA22F |190.7 139.7 301—1LM35—6CA22F |202 |53 |151 | 301—1LM46—16CA22F |225.6 172.5
301—1LM12—7.5CA22F | 177.7 301—1LM25—7.5CA22F |192.4 301—-1LM35—7.5a22F |203.7 301—1LM46—18CA22F | 227.8
301—1LM12—9CA22F | 179.4 127.5|301—1LM25—-9CA22F |194.1 142.2 301—1LM35—9CA22F |205.4 153.5| 301—1LM46—22CA22F |232.4
301—1LM12—12CA22F | 182-6 129.6|301—1LM25—12CA22F |197.3 144.3 301—-1LM35—12CA22F |208.6 155.6 | 301—1LM46—25CA22F |235.8
301-1LM14—6CA22F |178.2 127.2|301—1LM25—14CA22F |199.5 301—1LM35—14CA22F |210.8 301-1LM46—27CA22F |238.1
301-1LM14—7.5CA22F | 179.9 301—1LM25—16CA22F |201.8 148.7 301—-1LM35—16CA22F |213.1 160 | 301-1LM46—32CA22F |244.2 178.2
301—1LM14—9CA22F |181.6 129.7|301—1LM25—18CA22F |204 301—-1LM35—18CA22F |215.3 301—1LM46—35CA22F |247.1 780
301—1LM14—12CA22F |184.8 131.8 |301—1LM25— 22CA22F |208.6 301—1LM35— 22CA22F |R19.9 3071—1LM46—40CA22F |253.3 182.8
301—1LMI4—14CA22F |187 301—1LM25— 25CA22F |212 301—1LM35— 25CA22F |223.3 301-1LM46—46CA22F |259.6 785.5
301—-1LM16—6CA22F | 180.5| 45.51129.5|301—1LM27—-6CA22F |193 142 301—1LM35—27CA22F |225.6 301—-1LM52—6CA22F |221.4162.7 | 170.4
301—1LM16—7.5Ch22F |182.2 301—1LM27—7.5CA22F 194.7 301—1LM35—32CA22F |231.7 165.7|301—1LM52—7.5CA22F | 2231
301-1LM16.9CA22F _ |183.9 132 |301-1LM27-9CA22F [196.4 144.5 301-71LM35—35CA22F |234.6 167.5|307—1LM52—9CAZ2F |224.8 772.9
301—1LMI6—12CA22F |187.1 134.1 |301—1LM27-12cA22F [199.6 146.6 301-1LM40—6CA22F |208.2|55.8 | 157.2301—11.M52-12CA22F |228 75
301-1LM16—14CA22F |189.3 301—-1LM27-14CA22F R01.8 301—1LM40—7.5CA22F |209.9 301—1LM52—14CA22F |230.2
301—1LMI16—16CA22F | 191.6 138.5|301-1L.M27-16CA22F |204.1 151 301—1LM40—9CA22F | 211.6 159.7| 301—1LM52—16CA22F |232.5 7794
301—1LM18—6CA22F |182.7 131.7 |301—1LM27—18CA22F |206.3 301—-1LM40—12CA22F |214.8 161.8 | 301—1LM52—18CA22F |234.7
301-1LM18.7.5Ch22F |184.4 301—1LM27—22CA22F |210.9 301—1LM40—14CA22F |17 301—1LM52— 22CA22F |239.3
301—1LMI18—9CA22F |186.1 134.2 |301—-1LM27- 25CA22F |214.3 301—-1LM40—16CA22F |219.3 166.2|307—1L.M52— 25CA22F |242.7
301—1LM18.12CA22F |189.3 136.3 |301—1LM-27—27CA22F| 216.6 301—1LM40—18CA22F |2R21.5 301—1LM52—27CA22F |R45
301—1LM18—14CA22F | 191.5 301—1LM32—6CA22F |199.1 |51.2 |148.1 307—1LM40— 22CA22F |226.1 301-1LM52—32CA22F |251.1 185.1
301-1LM18.16CA22F _|193.8 740.7 301-1LM32—7.5CA22F |200.8 307—1LM40—25CA 22F | 229.9) 301-1LM52-35CA22F | 254 786.9
301—-1LM18.18CA22F |196 301-7LM32-9CA22F |202.5 750.6 301—1LM40—27CA22F | 231-8 301—1LM52—40CA22F |260.2 769.7
301—-1LM22—6CA22F |187.3|45.5 |136.3 |301—1LM32—120A22F |205.7 152.7 301—1LM40—32Ca22F |237.9 171.9 |301—1LM52— 46CA22F |266.5 192.4
301—1LM22-7.5CA22F| 189 301—1LM32-14CA22F |207.9 301—1LM40—35CA22F |240.8 173.7| 301-1LM52-52CA22F | 273.4) 796.6

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension

The drawing above shows a pump turning clockwise .For anti —clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




28

Precision, Speed,Quality in Producing Hydraulic Gear Pump

ARAFAN NAFIN CO.

Double pump with flange type <£3
Model LM

301—1LM....(C/CC)J23F

SHAFT J&C&T (01)
OUTLET & INLET F
FLANGE 23

38,5 A
256,56 c
SHAFT J Lz 4
9
EC g, EC g4
4—M1021.5 | AR AF
#6163
T
) o
o
e ]
2 Z\J 5 | co _© co _©
S 7 ~. ~ o o 9
e &) O 5|8 g8
S SRS oo |
r’ \ — \
raperi1/s(055) \4= M6 \4—Mbz1 O O
OUTLET OUTLET
- i « Q)
7.3 . \4-99
T E_ O O/ F Fit torque 6—7mk )
Key 2221 g prore
DIN-5482(e9) B—17x14|
O O Number of teeth :9
mi \ 4= M6zt Freeeur e < 0
2 Y \
-~ INLET %:
a SHAFT T 9 |14
SHAFT C L] Q
25 <
32,5 23,5
Model A |B |¢C Model 4| B | |t L Intet Modet | 4 | B | C Model 4| B | | | Iniet
301-1LM6—6CA23F 171.4 |38.5 |120.4 | 301-1LM22—9CA23F 192.7| 47.5|140.8 307—1LM32—16CA23F |212.2 159.1|301-1LM40—40CA23F |249 |67.8 |178.5
301—1LM7.5—-6CA23F 173.1 122.1 |301-1LM22-12Ch23F 195.9 142.9 307—-1LM32—78CA23F |214.4 301-1LM46—6CA23F |R16.5(60.5 |165.5
301—1LM?.5-7.5CA23F| 174.8 307—1LM22—14CAZ3F 198.1 |8 20190 s riusz-zzcazsr 219 301-1LM46—7.5CA23F | 218-2 5| 20140
801—1LMI—6CA23F 174.8|41 123.8 |301—1LM22—16CA23F 200.4| 147.3 * 3071—1LM32— 25CA23F22R.4 301—1LM46—9CA23F |219.9 168 *
301-1LM9-7.5¢CA23F | 176.5 301~ 1LMZZ—18CAZSF 202.6 301-1LM32-27CA23F |224.7 301-1LM46-12ch23F |223.1 170.1
301-71LM9—9OAZIF 178.2 726.3 |301-1LMe2—220A23F 207.2) 307-1LM32-320h23F |230.8 164.8|301-10M46-14ch23F |225.3
301-1LM12-6CA23F 178 |43.1 |12p |301-1LM25-6CA23F 192.7 141.7 207—1LM35—6CA23F 204 |55 153 |301-1LM46—16CA23F |B27.6 174.5]
301-1LM12-7.5ch23F | 179.7 301—1LM25—7.5CA23F 194.4 307-1LM35-7.5CA23F |205.7 301-1LM46—18CA23F | 229.8|
301-7LM12-9CA23F 181.4 129.5|301-1LME5—-90A23F 196.1 144.2 307-1LM35-9CAz3F  |207.4 155.5|301-1LM46—22cA23F |234.4
301-1LMI12—12CA23F | 184.6 131.6 |301—1LM25-12CA23F 199.3 146.3 207—1LM35—120A23F | 210.6 157.6|301—1LM46— 25cA23F |237.8
301—1LM14—6CA23F 180.2 129.2|301—1LM25—14CA23F 201.5 307-1LM35—14cA23F  |212.8 301-1LM46—27Ch23F |240.1
301-1LM14—7.5CAz3F | 181.9 301—1LM25—16CA23F [203.8 150.7 307-1LM35—16CA23F | 215.1 162 |301-1LM46—32CA23F |246.2 780.2)
301-1LM14—9CA23F 183.6 181.7 |301—1LM25—18CA23F 206 307—1LM35-18CA23F |217.3 301—-1LM46—35CA23F |249.1 182
301-1LM14—12CA23F 186.8 133.8|301-1LM25— 22CA23F 210.6] 307—1LM35—22CA23F |2R1.9 301-1LM46—40CA23F |255.3 184.8
301-1LM14—14CA23F 789 1301—1LMR5—25CA23F 214 307—1LM35—25CA23F |225.3 3071—1LM46—46CA23F |261.6 187.5
207—1LMI6—6CA23F 182.6| 47.5|131.5 |301-1LM27—-6CA23F 195 144 207—1LM35—27CA23F |227.6 301-1LM52—6Ch23F |223.4|64.7 | 172.4
301-1LMI6—7.5Ch23F |184.2 307—1LM27—7.5CA23F 196.7 307-1LM35—32CA23F |233.7 167.7\|301-11M52—7.5cA23F |2R5.1
301-1LM16.9CAZ3F 185.9 134 |301-1LM2P—9CARSF 198.4 146.5 07— 1LM35—35CAz3F  |236.6 169.5|301—11M52—9cAz3F | 226.8 [174.9|
301-1LMI6-12CA23F | 189.1 136.1 |307—1LM27—12CA23F 1201.6 148.6 207-1LMs0-6CA23F  |210.2|57.8 | 159-2\301 41 M52-12cA23F |230 177
301—1LMI6—14CA23F 191.3 307-1LM27—14CA23F 203.8 307-1LM10—7.5CA23F | 211.9 301-11M52—-14CA23F |232.2
301-11M16-16CA23F  |193.6 140.5\301-1LM2P—16CA123F  [206.1 153 307—1LM90-9ch23F  |213.6 161.7 |301-1.M52—16CA23F |234.5 |181.4]
301-1LMIG—6CA23F 184.7 133.7 |301-1LM27—18CA23F l208.3 207—1LM40—12cA23F  |216.8 163.8|301—1LM52— 18cA23F |236.7
301-1LM18.7. 5CA23F 186.4 307—1LM27— 22Ch23F ere.9 307-1LM10—14CA23F  |219 307—1LM52- 22cA23F |241.3
301—1LMI8—9ICAZ3F 188.1 136.2 (301—1LM27—25CA23F 216.3 307—1LM40—16CA23F |221.3 168.2|3071—10M52—25CAz3F |244.7
301—1LM18.12CA23F 191.8 138.3 |301—1LM27— 27CA23F 218.6 301—1LM40—18CA23F |R23.5 301—1LM52— 27CA23F |247 L
301-1LMI18—14CA23F 193.5 307-1LM32—6CA23F 201.1 |53.2 |150.1 301-1LM40—22CA23F |228.1 301-1LM52—32C A23F |253.1 187.1
301-71LM18.16CAZ3F 195.8 142.7 |301-1LM32-7.6CA23F  [202.8 01_1LM40—25ChZ3F | 231.5 301—1LM52—35CA23F | 256 [188.9]
301-1LM18.18cA23F 198 301~ 1LM32-9CA23F 204.5) 152.6 501-1LM40—27cA23F 233.8 201_1LME2—40CA23F |262.2 191.7
301-1LM22-60A23F | 189.347.5 |138.3 [301-1Lu32-120A23F  [207.7 154.7 307—1LM40—320A23F |239.9 173.9|301—1Lm0246cA2ar | 268.5 [194.4]
301-7LM22—7.5CA23F | 197 301—1LM32—14CA23F 1209.9 307—1LM40—35CA23F |242.8 175.7|301- 12052520 M23F | 275.4) [798.6|
In the reversible pumps , threaded ports awvatlable R only .both ports same dimension that corresponds to the suction dimension

The drawing above shows a pump turning clockwise .For anti —clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




ARAFAN NAFIN CO.

Precision, Speed,Quality in Producing Hydraulic Gear Pump

<9

Double pump with flange type 09
Model LM

SHAFT H&G&K (01)
OUT & INLET B
FLANGE 09

301—1LM....(C/CC)HO9 B

33 A
c
B
SHAFT H 106.35
5] 16, 9
e RS -
— Ar 87 BC o4
4—M1021.5 AF
2—011
(el
o o 6}
=
™
o) ) o o()o g
~D ~D
/o /o
A—M62x1 A=M6x1
4—M10z1.5 /
v
19 OUTLET QUTLET
@ F Fit torque 6—7mk 5 16,
Teeth number:9 [
4—M8x1.25 v D16 )32 |
A Pressure angel 30° b
O O
r M6z
o
A
=
INLET
SHAFT G&K - 75
£¢
S5
pAYIS] L|
&l 32
o ©
S8}
W
-~
ASURSE
4B |¢ 4|3 |¢ Outtel Inlet 4 |B |¢c 4B |¢C Outlet Inlet
Model Model T D 3 7 Model Model T ) K 7
301-1LM6-6CA09B | 172.9\40  |121.9 |307_11M22-9cA09B |194.2| 49 [142.3 307—1LM32—16CA09B |213.7 160.6|301—1LM90—40CA09B |250.5|59.3 | 180
307—1LM7.5—6CA09B | 174.6 123.6|301—1LM22-12CA09B |197.4 144.4 307-1LM32—18CAO9B |215.9 307—1LM46—6CA09B | 218 |62 |167
75 |30 | 20 |40 15 |30 | 20 |40
301-1LM7.5-7.5CA09B| 176-3 301—1LM22—14CA09B |199.6 307-1LM32-22CA09B |2R0.5 301-1LM46—7.5CA09B | 2197
* * * * * *
307—1LM9—6CA09B 176.3|42.5 |125.3|301-1LM22—16CA09B | 201.9 148.8 307—1LM32—25CA09B |223.9 301-1LM46—9CA09B | 2214 769.5]
301—1LM9—7.5CA09B | 178 307—1LM22—18CA09B | 204.1 307—LM32-27CA09B |226-2 301-1LM46—-12CA09B |224.6 771.6
1307—1LM3—9CAOIB 179.7 127.8|307-1LM22—22CA09B | 208.7| 307—11M32-32CA09B8 |232.3 166.3|307—1LM46—14CA09B |226.8
301-1LM12-6CAO9B  |179.5|44.6 |128. 5|301— 1LM25-6CA09B |194.2 143.2 307/—1LM35—-6CA09B |205.5|56.5 | 154.5|301—1LM46—16CA09B |229.1 176
301-1LM12-7.5CA09B |181.2 307-1LM25-7.5CA09B|195.9 307-1LM35-7.5CA09B |207.2 301-1LM46-18CA09B | 231.3
301-1LM12-9CA09B | 182.9 131 |301-1LM26-9CA09B |197.6 745.7 301-1LM35-9CA09B  |208.9 767 |301-1LM46-22CA09B |235.9
301—1LM12—12CA09B | 186.1 133.7|301—1LM25—12CA09B | 200.5| 147.8 307-11M35-12cA098 |212.1 159.1|301-1LM46— 25CA09B |239.3
301-1LM14—6CAO9B | 181.7 130.7|307-1LM25—14CA09B | 203 307—1LM35-14CA09B |214.3 301—1LM46— 27CAO9B |241.6
301—1LM14—7.5CA09B |183.4 3071-1LM25—16CA09B |206.3 152.2 307-1LM35-16CA09B |R16.6 163.5|301—1LM46—32CA09B |247.7 181.7
301-1LM14—-9CA09B | 185.1 133.2/301-1LM25—18CA09B |R07.5| 301-1LM35-18CA09B |#18.8 301-1LM46—-35CA09B |250.6 783.5]
301-1LM14-12CA09B | 188.3 135.3|301-1LM25—22CA09B | 212.1 307-1LM35—-22CA09B |223.4 301—1LM46—40CA09B |256.8 786.3
1301—1LM14—74CA09B  |190.5 307—1LM25-25CA09B 215.5 307—-11M35—25CA09B |226.8 1307—1LM46—46CA09B |263.1 89
301-1LM16-6CAO9B | 184 | 49 |133 |301-1LM27-6CA09B |196.5 145.5 307—1LM35-27Ca098 |229.1 301-1LM52-6CA09B |R24.9/66.2 | 773.9
301-1LM16—7.5CA09B |185.7 301—1LM27—7.5CA09B|198.2 307-1LM35-32CA09B |235.2 169.2|301-1LM52—7.5CA09 B | 226.6
301-1LM16.9Ca09B  |187-4 7135.5|301-1LM27-9CA09B |199.9 148 301-1LM35-35CA09B |238.1 171 |301-1LM52-9CA09B |2R8.3 764
301-1LM16—-12CA098 |190.6 137.6|301- 1LM27—12CA09B |203.1 750.1 307-1LM40-6CA09B | 271.7|59.3 | 160.7\30,_11152-12cA09B |231.5 778.5
1301-1LM16—74CA09B  |192.8 307-1LM27—14CA098 [205.3 307—11M40—7.5CA09B | 213.4 307-1LM52-14CA09B | 233.7
301-1LM16—-16CA09B | 195.1 742 |307-1LM27-16CA09B |207.6 154.5 307—1LM40-9CAO9B | 215.1 163.2|301—1LM52—16CA09B | 236 182.9
301-1LM18—6CAO9B | 186.2| 135.2 |301-1LM27-18CA09B |209.8 307—-1LM40—12cA09B |218.3 165.3\301—-1LM52-18CA09B |238.2|
301-1M18.7.5CA09B8 | 187.9 301—1LM27—22CA09B |214-4 307-1LM40—14CA09B |220.5 301—1LM52— 22CA09B |242.8
1307—1M18—9CAOI B 189.6) 137.7 |307-1LM27— 25CA09B |217.8 1307—1LM40—16CA09B |222.8 169.7|307— 1LM52— 25CA098 |246.2
1301—-1LM18.120009B | 192.8 139.8 |307—1LM27— 27CAD9B | 220.1 1307—1LM40—18CAQ9B | 225 301—-1LM52—27CA09B |R418.5
1301—-1LM18—14CA09B | 196 307-1LM32-6CA09B |202.6|64.7 |151.6 301—1LM40— 22CA09B |229.6 1301—1LM52—32CA09B |254.6 788.6
301-1LM18.16CA098 _ |197.3 744.2 |301-1LM32—7.5CA09B|204.3 301-1LM40—25CA09B | 233 301-1LM52-35CA09B | 257.5) 1904
301-1LM18.18CA09B _ |199.5 301-1LM32-9CAO9B | 206 154.1 307-1LM40-27CA09B | 235.3 301—1LM52-40CA09B | 263.7) 83.2
307—1LM22-6CA09B |190.8| 49 |139.8|301—71LM32—12CA09B |209.2 156.2 307—1LM40—32CA09B |241.4 175.4|301—1LM52— 46CA09B | 270 795.9
307—1LM22-7.5CA09B | 192.5 301—1LM32-14CAQ9B [211.4 307-1LM40-35CA09B |244.3 177.2|301-1LM52- 5204098 | 276.9 2001

In the reversible pumps , threaded ports awvatlable R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti —clockwise rotation sense ;replace C by CC' in which case suction and pressure ports shall be inverted




30

ARAFAN NAFIN CO.

Precision, Speed,Quality in Producing Hydraulic Gear Pump

RELIEF VALVE

Pump with relief valve

Pump with flow control

valve and relief valve

S

Description

)
£

Description

Qut

Valve plug

Valve housing

Metal bonded gasket

Flow control valve

Adjustment shim

Spring

Spring for 5-80bar

Constant flow outlet fitting

Spring for 80—175bar

Screws  M10

Spring for 175-250bar

Washer ¢10DIN—7980

RES NI EN NN

Valve head

Adjustment shim

Copper gasket

Valve pluc

@ | N O AW |~

Relief valve

Valve housing and back cover

< |~

3

Valve seat assembly

SRR IR R RN RS




ARAFAN NAEIN CO.
37

Precision, Speed,Quality in Producing Hydraulic Gear Pump

Double pump with flange type 23
Model LS

301—1LS......(C/CC)J23F SHAFT J

OUTLET & INLET F
FLANGE 23

38,5 A
25,5 c
B
- EC
4= M1021.5 21623 ) I ﬂAF o a5 62
— 7.1
o~ I
TN o 2 3
o *Hv 3 o\ o o
Z\J S eRoNiige!
3 7 0O Q f— 2
ERA = g © f b
§ Qg o \I—M6ai é
”/ — \\ﬁ,i EET OUTLET
Taper:1,/5(5.66°)/ o
OQUTLET \_‘Ht torque 3.75mky O
—_— > —/
7.4 4—09]
Shaft C 1 Shaft T
22x4
Tooth thickmess sw=3.206 o
Profile correction +0.6 —
M6 x1 oC O O//(;F DIN-5482(e9) B-17x14
) - Number of teeth :9
S o Dia pitch: P/Pa=16 /32
C& Q S C) Pressur angle : 30°
e} &}
\4— M6zl %:
INLET INLET L& 1—4J
32,5 IS
23,5
Model A | B c Model 4 | B c Model A4 | B c
301-1LS6—1.5CA23F | 165.1|38.5 |127.4|301-1L518—1.5CAR3F |178.4|47.6 |140.7 | 301-1LS40—1.5CA23F |203.9 | 57.8 | 166.2
301-1LS6—-3CA23F | 170.2 301-1LS18—3CA23F |183.5 301-1LS40—3CA23F |209
301-1LS6—5CA23F | 176.9 130.9|307-1LS18—5CA23F |190.2 144.2 | 301-1LS40-5CA23F |215.7 169.7
301-1LS6—7.5CA23F |185.7 133.9|301-1L518—7.5CA23F | 199 147.2 | 301—1LS40—7.5CA23F|224.5 172.7
301-1LS6—10CA23F |193.9 139.2|301-1LS18—10CA23F |207.2) 152.5 | 301—1LS40—10CA23F |232.7 178 Outlet Inlet
301-1LS7.5—1.5CA23F| 166.8 129.1 | 301-1LS22—1.5CA23F | 183 145.3 | 301—11S46—1.5CA23F |210.2 | 60.5 |172.5 Pump C D B I
301-1LS7.5—3CA23F |171.9 301-1L522-3CA23F |188.1 301-1LS46—3CA23F |215.3
301-1LS7.5-5CA23F |178.6 132.6|301-1LS22—-5CA23F |194.8 748.8|301—-1LS46—-5CA23F |222 176 | Pump. M| 15 30 20 *| 40
301—1LS7.5—7.5CA23F|187.4 135.6|301-1L522—7.5CA23F| 203.6| 161.8 | 301—1LS46—7.5CA23F|230.8 179
301—1LS7.5—10CA23F | 195.6 140.9|301-1LS22—10CA23F | 211.8 157.1 | 301-1LS46—10CA23F |239 184.3
301-1LS9—1.5CA23F |168.5| 41 |130.8|301-1LS25-1.5CA23F |186.4 148.7 | 301—1LS52—1.5CA28F |217.1 | g4 7 |179.4 Pump. N| 11 30 14 30
301-1LS9—-3CA23F  |173.6 301-1LS25—-3CA23F |191.5 301-1LS52—3CA23F |222.2
301-1LS9-5CA23F | 180.3 134.3| 301-1L525—5CA23F [198.2 152.2 | 301—1LS52— 5CA23F |228.9 182.9
301-1LS9—7.5CA23F |189.1 137.3| 301-1L525-7.5CA23F | 207 165.2 | 301-11552-7.50A23F|237.7 185.9 Pump. N Outlet Inlet
301-1LS9—10CA23F |197.3 142.6 | 301-1LS25—10CA23F |215.2 760.5 | 301—1LS52—10CA23F |245.9 191.2
301-1LS12—1.5CA23F | 171.7| 43.1 |134 |301-1LS27—1.5CA23F |188.7 151 156.53.5 7/ " 3/8”
301-1LS12-3CAR3F |176.8 301-1LS27—3CA23F |193.8
301-1LS12-5CA23F |183.5 137.5|301-1LS27-5CA23F |200.5 154.5
301-1LS12-7.5CA23F |192.3 140.5 | 301-1LS27—7.5CA23F|209.3 157.5 7 5-10 3/8” 7/2”
301-1LS12—10CA23F |200.5 145.8 | 301—1LS27—10CA23F 217.5 162.8
301—1LS14—1.5CA23F |173.9 136.2| 301-1LS32—1.5CA23F [194.8 | 53.2 |157.1
301-1LS14—3CA23F |179 301-1L5S32—3CA23F |199.9
301—1LS14—5CAR3F |185.7 139.7 | 301-1LS32—5CA23F |206.6 160.6
301—1LS14—7.5CA23F [194.5 742.7 | 301-1LS32—7.5CA23F|215.4 163.6
301-1LS14—10CA23F |202.7 748 |301-1LS32-10CA23F |223.6| 168.9 . . .
301-1LS16—1.5CA23F |176.2 |47.5 |138.5|3071-10535—1.5CA23F (197.7 | 65 |160 *:OTL the 6&7.5&9 lit pump " M7 dimension " E 7
301-1LS16-3CA23F |181.3 301-1LS35-3CA23F |202.8 of suction side 1is 15 mm.
301-1LS16—5CA23F |188 142 | 801-1LS35—-5CA23F |209.5 163.5
301-1LS16—7.5CA23F | 196.8 745 |301-1LS35-7.5CA23F|(218.3 166.5
301-1LS16—10CA23F | 205 150.3 | 801-1LS35—10CA23F |226.5 171.8

In the reversible pumps ., threaded ports awvailable R only .both ports same dimension that corresponds to the suction dimension

The drawing above shows a pump turning clockwise .For anti —clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump
	PL pump

